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1H- 4

-25-20-

il
0

nIIlIII\
5-10 -5

Iul
5

10

5 20 25

TP dxy(PV) (cm)

[ Efficiend]

—=— DQM_V0001_R000000001__Global__cmssw__RECO
—— DQM_V0001_R000000001__Global__mkFitOriginal__RECO
—— DQM_V0001_R000000001__Global__mkFitNew__RECO

< 0.

g
£0.09
X

20.08
2
£0.07
c

50.06
S0.05
0.04
0.03
0.02

Efficiency vs Dz(PV)

il
I
|
|
1

~1-0.8-0.6-0.4-0.2 0 0.2 04 06 0.8 J.

hh”l

TP dxy(PV) (cm)

s 02

2 F : : : :
FO0.48F- - etre e Fereredeeanes RERR Foeees
S : : : :

20.16F-
3 o
20.14fF-
o

o .
S0.12F
(5]

0.06f-+- - JIftl-Ht-
o.0aft 4 -1t

o

o

™)
mam

% SRS SO B
0.08F+ - F-f-p 5o

ol

¥ . d4r--

10

30

-20

Efficiency vs Dz(PV)
0.5

10 4.
TP dz(PV) (cm)

< E T
o E :
%0.09- i
© . . H
£0.08F- <+ . . :
Fy : : :
Q0.07F- - p-e-tmemme s A A e
2 E . . .
KL o SRR | EEEECRTETPPFFPEREEEEEEETY & SR
T El: : : :
[OOE] = S B | R Rt
0.04E {3 of oo :
008t A f- b edeeee
ookt LAl i
00541 | .|
o o i i i
g : : : :
24 . . .
15 -=-- 4-4-- -{
p S A i-.
-1 -0.5 1




	Contents
	Page 1


